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TEST CODE CLASS - IX
9805 PART-A : MATHEMATICS ZONE - I

1.

In the given figure, three equilateral triangles have 1.
a common vertex then (x + y + z), is

(1) 90°

(2) 120°
(3) 150°
(4) 180°
In the given figure, Zx is greater than one fifth ofa 2.

right angle, then:

(1) y > 162°
2) y > 162°
(B)y=162° < >
(4)y < 162° B A

In the given figure BO and CO are the bisectors of 3.
the exterior angles of B and C. Then ZBOC is

(1) 46°

(2) 56°

(3) 66°

(4) 60°

In AABC, AB=5cm, BC=6 cm and CA =7 cm. 4.
Identify the relation between the angles

(1) B> LA > ZC (2) LA > LB > ZC

(38) £B>ZC>ZA (4) ZC>ZA > /B

faq g for ®, A= Farg S o1 ve oY |\ e T ae
(x+y+z)§m

(1) 90°
(2) 120°
(3) 150°
(4) 180°
fau Ty R #, Lx, FHGIV & UTerd 9§91 2, 79

C
(1) y > 162°
(2) y > 162°
(3) y < 162° < YLX >
@)y < 162° B A
faw v fr § BO @21 CO, B 41 C & d1&1 DIV & BT
TafgATS® 8, 99 ZBOC 8 —

(1) 46°
(2) 56°
(3) 66°
(4) 60°
AABC % AB = 5 9!, BC = 6 941 @211 CA = 7 9H HIvIi
@ Heg Y DI UgATII—

(1) £LB> LA > ZC (2) LA > LB > ZC

(8) LB > ZC > /LA (4) ZC>ZA > /B

Space for rough work

1
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In the given figure, AABD and AACD are congruent 5.

triangles. ZBAC = 60° and ZBDC = 110°, then
ZABD is : A

/N
(1) 15°
(2) 22° &
(3) 35°
(4) 25° C
Choose the range of values of side BC.

A

(1) x € real number

(2) x € [3, 6] 3 6

B)x<6

4 3<x<9 B " C

Let X be any point on the side BC of a triangle
ABC. If XM, XN are drawn parallel to BA and CA
meeting CA, BA in M,N respectively ; MN meets
CB produced in T. Then

(1) TB% = TX x TC M
(2) TC? = TB x TX
(3) TX? = TB x TC
(4) TX? = 2(TB x TC) T X c
In figure AC bisects Z/BAD. What type of triangle
is AACB?

A
(1) Acute angle triangle
(2) Right angled triangle
(3) Obtuse angled triangle 50° 120° -
(4) Reflex Triangle B C D g

TEST CODE
2805

fag g frsr §, AABD @21 AACD HaiTaq s g |
Z/BAC = 60° 921 Z/BDC = 110°, 94 ZABD ¢ :

A
AN

(1) 15°
(2) 22° A
(3) 35°
(4) 25°
ol BC & A1 & ngﬂmzﬁrﬁm
A

(1) x € s T

2)x € [3, 6] 3 6

B)x<6

4 3<x<9 B C
HTHTXEB\T'%QEB@@%HGTABCH%&WBCW%IH%
XM, XN; BA @1 CA & {AT=aR = St 2 o
CA, BA &1 9: M,N TR el € | MN @211 CB §gH 0R T
TR e 8, da—

A

(1) TB% = TX x TC M

(2) TC? = TB x TX /
T C

(3) TX? = TB x TC
(4) TX? = 2(TB x TC)

fRIEHAC, LBADaﬁW@“ﬂﬁﬁWﬁ%IMCBﬁWW
&1 el 8 ?

A
(1) =TT g
(2) FHHTOT gt
(3) =1fde BIvT ot 50° 120° R
(4) ufaga By B C D

Space for rough work
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In the figure, it is given that

9.

10.

11.

A
C
D
L350 25
Iz

(i) AB L BF and EF L BF

(ii) AC = BC

(iii))KD is perpendicular to BC and DE

Find the measure of x

(1) 75°
(3) 60°

(1) x = 70°, y = 37°
(2) x = 37°, y = 70°
(3) x = 50°, y = 57°
4) x = 57°,y = 50°

The line BE is a diameter of the given circle. If 11.
ZBAC = 33° and ZEBC = 57°. Then ZCAE =

(2) 30°
(4) 45°
In the given figure, /x and Ly are :

A

X

CLASS - IX

B

(5P

(1) 57° A D
i W
(3) 48°

(4) 90°

E

//Wg
B H
\

705

D

ZONE -1
9. f=H, wEfm Tz fe
A
C E
Di
B35 25 F
Iz
(i) AB L BF @2 EF L BF
(ii) AC = BC
(iii) KD, BC A1 DE & o ddd &
X &1 A 1d B |
(1) 75° (2) 30°
(3) 60° (4) 45°
10. RyuTu e § Lx @1 Ly &~
A
//Wf X
-
C (1) x = 70°, y = 37° B C
(2) X = 370, y= 70° y 70°
(3) x = 50°, y = 57°
(4) x = 57°, y = 50° D

ZEBC = 57°, 94 LCAE =
B

L
s

(1) 57° A D
W
(3) 48°

(4) 90° E

If& ¥ BE & 77 g9 &1 a9 § | afe ZBAC = 33° d

Space for rough work

3
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12.

13.

14.

15.

16.
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A circle of radius 25 units has a chord joining
through a point that is located 10 units from the
centre. What is the shortest possible length that
chord could have?

(1) 25 units (2) /525 units
(3) 40 units (4) V2100 units

In the given figure ‘O’ is the centre of circle and
AB = BC and ZAOB = 90° then Za is

(1) 30°
(2) 45°
(3) 60°
(4) 15°

If a*+ - = 119, then find the value of a° —

a a
(2) 36
4) 12

3 -

(1) 11
(3) 33

Which option is correct with respect to the line 15.

x+1=07?

(1) It is parallel to y-axis
(2) It passes through (0,-1)
(3) It is parallel to x-axis
(4) It passes through (0,0)

If the system of equations 3x + 4y = 12 and 16.

(@ + b) x + 2(a — b) y =5a —1 has infinitely many
solutions then a & b satisfy the equation
(l)a-5b=0 (2)5a-b=0
B)a+5b=0 “4)5a+b=0

12.

13.

14.

TEST CODE
2805

25 TP F3TT a1el U g § Y Sital U g A el € o
T W 10 DTS DI g3 IR R ¢ | ST & =IATH §d FdTS
RITE Fh & P

(1) 25 3BT (2) V525 @IS
(3) 40 TTE (4) V2100 S@TS

& g BT H ‘O’ g7 BT b & qAT AB = BC Tl
ZAOB =90° T4 Za. &

AN

(2) 45°

(3) 60°

(4) 15° C

fe a® + L4 =119, d9a’ - % T A ST BN |
a a

(1) 11 (2) 36

(3) 33 4) 12

I x + 1 =0 & o i iy w1 2 ?

(1) I8 y-31&T & AR ©

(2) TE (0,~1) & okl B

(3) TE x-318T & FATCR B

(4) T (0,0) ¥ ToRAT B

fe FHHRIT 3x + 4y = 12 qAT
(@+b)x+2(@-b)y=5a—1 B ORI AT &l VG &,
T a T2 b FHIHROT Bl T P ¢ |

()a-5b=0 (2)5a-b=0
B)a+5b=0 4)5a+b=0

Space for rough work

4
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7
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17.

18.

19.

20.

Find the equations of the line parallel to
4x + 3y =5 and having x-intercept (-3).
(1)3x+4y+12=0 (2) 3x + 4y =12
B)4x+3y-12=0 4)4x+3y+12=0

In a rectangle ABCD the lengths of sides AB, BC
CD and DA are (5x + 2y + 2)cm, (x + y + 4)cm,
(2%x + Sy =7)cm and (3x + 2y — 11) cm respectively.
Which of the following statements is false ?

(1) One of the sides of the rectangle is 15cm long.
(2) Each diagonal of the rectangle is 39cm long.
(3) Perimeter of the rectangle is 102cm

(4) Area of the rectangle is 560 cm?

In the given figure, MNQS is a cyclic quadrilateral
in which ZQNR = 61° i
2 : 1. The values of x and y respectively are
10 40
PRy
2° 1°
(2) 38 3 19 3

o o

(3) 21;, 33?

1° 1°

4) 192, 382

An irrational number between 2 and 2.5 is
(1) V11 2) 5
(3) V/22.5 4) J12.5

and x : y is

(1) 18

17.

18.

19.

CLASS - IX

ZONE - 1

4x + 3y =5 & TR I F1d DIy RTaaT1 x-3iaa@re
3) e

(1)3x+4y + 12 =0 (2) 3x + 4y = 12
(3)4x+3y-12=0 (4)4x+ 3y + 12 =0

Tah 31Id ABCD # 4i13ii AB, BC, CD 21T DA & diars a1
HAI: (5x + 2y + 2) WHI, (x + y + 4) |H,
(2x + 5y —7) FHI GAT (3x + 2y — 11) AH & |
fer=ferRRaa 4 | s s ©

(1) 3T B T ol 15 FH el B

(2) JTId BT YD fadmol 39 FHY FaT 8

(3) 3mad &1 ulRHTT 102 W ®

(4) 3T BT EFTHA 560 TH

few 1y fas ¥, MNQS U@ ad1g agds 2 | faad
ZQNR=61°Tx:y,2: 18| xdAy & A HA: &

o4
(1) 18 1 , 3 1
o 10
) 38? , 19?
ro.2
(3) 21 3 , 33 3
ror
4) 19 2 , 38 1
. 2 4T 2.5 B 9 U JTRIT I<=AT 8 R
(1) Vi1 2) /5
(3) V22.5 “4) J12.5

Space for rough work

5
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21. The value of : 21.
Ja?+b? +b a-+a?-b?
a’ b?
(1) o) (2) =2
®) @

22.

23.

24.

25.

Tecno'23

TALENT EXPLORING CLC
NATIONAL OLYMPIAD

a+\/a2—b2 ;\/a2+b2 -b

If the number 357y25x is divisible by both 3 and 22.

S, then find the missing digit in the unit’s place
and the thousand place respectively.

(1) 0, 6 (2)5,6

(3)5, 4 40,4
1 ), 1

If x——=9, then value of x" +— is 23.
x x

(1) 83 (2) 79

(3) 11 “4)7

If x"? 4+ 42 =0, then

)xP+y3+28=0 2)x +y+z=27xyz

( y y xy

3) (x +y+2)° =27xyz 4)x3 +y3 + 2% =27xyz
B) x+y+z) Xy “) y Xy
x" + y" is divisible by x + y if

(1) n is an odd integer

(2) n is an even integer

(3) n is rational number

(4) n is irrational number

24.

25.

TEST CODE
2805

a+\/a2—b2 ;\/a2+b2 -b

JaZ +b? +b ‘ a-+a? -b? PR

a’ b?
(1) o) (2) =z

a b
@3 @ 5

afe Hw@ 357y25x, 3 AAT 5 T ¥ F9IRTT 8, a9 318
TAT BOIR & AT IR & HT S DIy |

(1) 0, 6
(3) 5, 4

2)5, 6
4) 0, 4

1
afe x—l=9,aa X+ — BIAME
X X

(1) 83

(3) 11

Elﬁ{ x1/3+y1/3+zl/3 =O,K_‘|—6[
1)x+y>+2°=0 (2) x +y + z =27xyz
(3) (X+y+z)3 =2'7xyz 4) x3+ys+z3 =27xyz
X"+ ", x +y 9 i g afe

(1) n T& faus gories &

(2) n T& 9 quifep B

(3) n T& uR¥g Hw& §

(4) n TP IURAT HE=q1 &

(2) 79
4) 7

Space for rough work

6

y,

7
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TEST CODE CLASS - IX
2805 PART-B : MENTAL ABILITY TEST ZONE - I
26. Choose the odd one out. 26. faud @1 R
(1) OTP (2) ABA (1) OTP (2) ABA
(3) 8ZX (4) UVB (8) 82X (4) UVB

27.

28.

29.

Choose the pair in which the words are differently 27.

related from the rest.
(1) Steel : Utensils (2) Bronze : Statue
(3) Duralumin : Aircraft (4) Iron : Rails
Statements: Some ants are parrots.
All the parrots are apples.
Conclusions: (1) All the apples are parrots.
(2) Some ants are apples.
(1) Only (1) conclusion follows
(2) Only (2) conclusion follows
(3) Either (1) or (2) follows
(4) Neither (1) nor (2) follows
Statements: All the bottles are boxes.
All the boxes are bags.
Some bags are trays.
Conclusions:(1) Some bottles are trays.
(2) Some trays are boxes.
(3) All the bottles are bags.
(4) Some trays are bags.
(1) Only (3) and (4) (2) Only (1) and (2)
(3) Only (2) and (3) (4) Only (1) and (4)

28.

29.

I g BT 99 DIfog i o a1l 9 =1 w9 9
GEICCESN

(1) et : qa (2) &g : Ak
(3) SFXIGA : argI (4) TeT : Yo
DU B Aifedl A g |

IR AT AL |
forsp: (1) ¥ 9 1 & |

(2) BB difcai w9 2 |
(1) Baa (1) Frapd IgaRoT oRan 2 |
(2) DI (2) ey FTAIVT HRAT 2 |
(3) T aI (1) 1 (2) Fr=hy SR HAT ¢ |
(@) A (1) 3R T8 (2) Fremd SR AT § |
P : [ qictel de € |

Tt S AT E |

PO AL E|
forspe : (1) {B a1l ¢ & |

2) BB ¢ AT |

(3) T Srcfel ST E |

(4) TB T ITE|

(1) daet (3) TAT (4)
(3) Had (2) T (3)

(2) DI (1) AT (2)
(4) DI (1) AT (4)

Space for rough work

7
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30.

31.

32.

33.

34.

Tecno'23
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How many combinations of two-digit numners 30
having 8 can be made from the following numbers?

8,52,1,7,6
(1) 10 2)6

(3)9 “4) 11

Five girls are sitting on a bench to be photographed. 31.

Seema is to the left of Rani and to the right of Bindu.
Mary is to the right of Rani. Reeta is between Rani
and Mary.

Who is in the middle of the photograph ?

(1) Bindu (2) Rani

(3) Reeta (4) Seema

Rahul put his timepiece on the table in such a way 32.

that at 6 P.M. hour hand points to North. In which
direction the minute hand will point at 9.15 P.M. ?
(1) South-East (2) South
(3) North (4) West
Statements: All engineers are villagers.

No villager is a nurse.

All nurses are managers.
Conclusions:(1) No engineer is a manager.

(2) All villagers being managers is

a possibility

(1) If only conclusion 2 follows.
(2) If both conclusions 1 and 2 follow.
(3) If neither conclusion 1 nor 2 follows.
(4) If either conclusion 1 or 2 follows.
Read the arrangement carefully and give the 34
answer of following questions ?
K$23DBE8HM4@5JF4%K1+WR#AA*415
How many such symbols are there which is not
immediately preceded by a letter but immediately
followed by a number ?
(1)1 (2) 2

(3)3 (4) 0

33.

TEST CODE
2805

. FrafaRea et & 8 arell |1 3fa! & FwmRl & favaw
AT S99 S Hebdl & ?

8,52,1,7,6

(1) 10 (2) 6 (3) 9 @) 11

UG 491 IR Ui diefhdi ®iel Rizrar o forg 361 & | 5, 7=
% 91 31R fag @ ST 3R & | 990, I+ & <71 &iR & | 0,
I IR AT

®Ier § 7y § B 937 B ?

(1) fig (2) T

(3) dar (4) =

RTEA 7 U TS1 4ol R 39 YHR W& b AM 6 I 8¢ B
G IR B AR SAR SR 8 | ¥ 9.15 g0 fFFe &1 g
o faem 9 gomRT vl ?

(1) &féror-gd (2) =féror
(3) TR (4) ufe=™
B : T4 goffeR o 2 |
PIS YTHIOT T LT 2 |
T T vdeed 2 |
forsa - (1) DS ¥ SONFRR FoR TE 2 |

(2) T IITOT HOR &, U FHTET B |

(1) afe Pae frspd 2 SR G T |
(2) afe ST Frapd 1 T 2 TR AR B |
(3) afe = a e 1 77 8 2 SITERTI HRAT 2 |
(4) afe 1 q1 ey 1 A1 2 SR HRAT ¢ |
. IIRT DI &I ¥ U IR fFr=falad v 1 3Tk 2

K$23DBE8HM4@5JF4%K1+WR#AA*4 15
Y fraw oo & R Sep Ugel U 31eRR 81 8 <ifd S
91 T =T 8 ?

(1)1 (2) 2 3)3 (4) 0

Space for rough work

8

“eRUTIE "’ Pt. Harinath Chaturvedi Marg, Piprali Road, Sikar (Rajasthan) Ph :

]
01572255500




TEST CODE
2805

35.

36.

37.

38.

39.

40.

Rita told Mani, "The girl I met yesterday at the 35.

beach was the youngest daughter of the brother-
in-law of my friend's mother." How is the girl related
to Rita's friend ?
(1) Cousin

(3) Niece

(2) Daughter
(4) Friend

A cuboid of 2x6x10 cm? is cut into 2 cm length of 36.

smaller cubes, then many smaller cube are there
which have only 4 surface painted?

(1)1 (2) 2 (3) 3 4) 4

An explanatory figure of dice is given. Study the
figure and identify the correct dice formed by that

jileg leln

N

figure.

[§4] {an (I (v

(1) I, 11, IIT and IV (2) Only I and II

(3) Only II and III (4) Only I, IT and III

If FRIEND is coded as HUMJTK, how is CANDLE
written in that code ?

(1) EDRIRL (2) DCQHQK

(3) ESUFME (4) DEQJQM

If NOTEBOOK is coded as REGOLEEN, and SHIRT
as XYZBG, then TORN is coded as

(1) GZBR (2) GEBN

(3) GEBR (4) GOBR

Pointing to a person, a man said to a woman, "His
mother is the only daughter of your father." How
was the woman related to the person ?

(1) Aunt (2) Mother

(3) Wife (4) Daughter

37.

38.

39.

40.

ZONE - I
R =1 A1 | Bal, ‘R sl | H hdl Ags e W el o,
IE W S D 7 B IR DI FIA BISI 91 ¢ | AL a1 B
i3 3 e v wafa & 2

(1) =R (2) gt
(3) ciroft (4) I~
2x6x10 FHI° B YPp T Bl 2 JH o918 D BIS G4 §
PTeT WAl B, a1 U fords ©IC g9 & R dadl 4 |dg 30

g9e?

(11 (2) 2 3) 3 (4) 4

UTH ) ARATHD ATH QI TS © | 3Pl BT JIITT B 3R
I ATPIT A I AE! U1 DI UgaT DY

nf ifezlnt

-
(X [§4)] {In
(1) 1, II, III oI IV (2) daet [ @ 11
(3) daa 11 T 111 (4) DI I, 11 a1 111
Ifg FRIEND @1 HUMJTK & %9 § ®Ifed far Sirar g, @
9 DIS 99T H CANDLE &1 $ et ST 2
(1) EDRIRL (2) DCQHQK
(3) ESJFME (4) DEQJQM
7fd NOTEBOOK &I REGOLEEN @&l SITell 2 3fiR SHIRT
Bl XYZBG $el 91l 2, df TORN &7 $i€ 81T :
(1) GZBR (2) GEBN
(3) GEBR (4) GOBR
Tah fth Bl 3R SART A gY, U Y28 - Gob Afgell ¥ el
IFD! |l R U B gl 91 2 | afee S @fh 9
DY T of?
(1) 3t
(3) T

(I (v

(2) W

(4) TN

Space for rough work
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PART-C : PHYSICS

TEST CODE
2805

41. A car travels from rest with a constant acceleration 41. T® HIR faRmHEGRRN J IRAT BIhR T I @R A J't

42.

43.

44,

'a’ for 't' seconds. What is the average speed of the
car for its jouney, if car moves along a straight road ?

(1) v=2 (2) v = 2at?
2
(3) V=%t (4) None

Two extreme ends of a moving train (engine and
guard coach) pass a pole with speed 60 m/s and
80 m/s respectively with a constant acceleration
The speed with which the middle point of the train
will pass the same pole is :

(1) 70 m/s (2) 78 m/s

(3) 64 m/s (4) 50v2m /s

The magnitude of inertia of a body is determined
by its :

(1) Weight (2) Velocity

(3) Mass (4) Acceleration

An apple falls from a tree beause of gravitational
attraction between the earth and apple. If F, is the
magnitude of force exerted by the earth on the
apple and F, is the magnitude of force exerted by
apple on earth, then :

(1) F, is very much greater then F,

(2) F, is very much greater than F,

(3) F, and F, are equal

(4) Can't predict

42.

43.

44.

JHUS TP T BRI 8 | I HR Aefl T R A= 8, @
T AT § HR B AT ATl T B ?

2

(1) v= at (2) v = 2at?

2
@ v=3 () ¢ 7

U fgd @Ror & il U 29 @ Q1 ok RR (99
3R IS &1 S&@T) Th @R B 60 m/s TAT 80 m/s B ATA
A IR B 2 | 98 A1el, RTH ¢ &1 7 fawg I @3 Bl UR
P

(1) 70 m/s (2) 78 m/s

(3) 64 m/s (4) 50v2m /s

TP 9eg & SI$cd B IRATT IS ............. gr1 fFruiRa favan
Sar g ?

(1) ¥R (2) o

(3) weTH (4) @RI

Yol 3R |d & ALY [&ed I JMHUV & BRI (S Ad U 4
fRaAT 2 | & gedl & EIRT |G UR I ST aTel It &1 UfRHATOT
F, &, T F, 92l R 9 & §RT Y S el ¢ BT TRHATT
EAGER

(1) F,F, & 9ga 31 g1
(2) F,, F, ¥ 987 31f%@ g
(3) F, @1 F, aRTaR B
(4) SITATT TTET &M Fabl

Space for rough work
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45. A body is weighed at the poles and at the equator. 45. U a%] 1 ¥R gai U T YA IET W H1YT ST & | T 9R

46.

47.

Then weight :

(1) At the equator will be greater than at the poles
(2) At the poles will be greater than at the equator
(3) At the poles will be equal to that at the equator
(4) Depends upon body

A particle starts its motion from rest under the
action of a constant force. If the distance covered
by it in first 10 seconds is S; and that coveres in
next 20 seconds is S,, then :

(1) S, =58, (2) S, = 28,

(3) S, =8S; (4) S, =4S,

An object of mass 2kg moving with a velocity 10
m/s is applied by a force as shown in figure. Final
velocity of the object will be :

F(N)
10 fremmmmmmemeeeees :
é > time (s)
(1) 20 m/s (2) 30 m/s
(3) 40 m/s (4) S0 m/s

46.

47.

CLASS - IX

ZONE - 1

(1) ¥¥ea X1 W gal | 31 B

(2) gai U= ¥ T ¥ Afd g

(3) gal U= qAT AT W TR UHHA ST

(4) T8 R R

Teh 1T g & YHTd | U o1 faRTHTaReIT | I g B,
IfE 58 g1 Ugel 10 HHUS H T BI 715 g1 S, 8, T2 37Tl
20 APTEHTI B T A S, B, T4

(1)S, =8, 2) S, =28,

(3) S, =85, (4) S, =4S,

10 m/s @ 9 9§ TRAM 2 kg SIHH &1 T ax] TR =
¥ fa=aTg SR 9 SIRITUT T I &, a%g &1 3ff~s o
BT

F(N)
10 frmmmmmmmmmemnsees :
é > time (s)
(1) 20 m/s (2) 30 m/s
(3) 40 m/s (4) S0 m/s

Space for rough work
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%\ Tecno'23

48. When an object is thrown up, the force of gravity: 48.

49.

50.

TALENT EXPLORING CLC
NATIONAL OLYMPIAD

(1) Acts in the direction of motion

(2) Acts in the opposite direction of motion
(3) Remains constant as the body moves up
(4) Increases as the body moves up.

A gun of mass 10kg fires 20g bullets with speed of 49.

500 m/s at the rate of 10 bullets per second. To
hold the gun steady in its position, how much force
is necessary ?
(1) 200N
(3) 100N

(2) 500N
(4) 250N

Velocity—time graph of a body moving with uniform S50.

acceleration is shown in the diagram. The distance

travelled by the body in 3 seconds is :
Velocity (m/s)

(1) 90m 1] E
(2) 45m 20 [ ! :
(3) Zero 101 :
(4) 10m 1 2 3 > time (s)

TEST CODE
2805

T4 U G B SHUR DI R B! STl 8, T [Hed 9 :
(1) 7fy @ feem & o 2

(2) 7Ty @t ferem & faurd erer @

(3) ST TR IR B MR SH 2, 1 Frad 2ar 2

(4) T4 I¥G HUR BT AR S 2, A gl &

10kg GeIHIT @1 Ueb g5 Ufcl ve 20 g Gud Bl
10 Mo 500 m/s @ AT A SFTA B | 975 Bl I Reafey
# ReR 3 & oy fha 91 o7 =1 ugm ?

(1) 200N (2) 500N
(3) 100N (4) 250N
3 3 g T @R ¥ TR U 9% BT I 3TN
T forar T 2 | 3 WU | A% B g1 a7 B TS g2 Bl

Velocity (m/s)
r' 3

(1) 90m 0] — :
(2) 45m ?g _____ :
(3) =3 P
(4) 10m i > time (s)

Space for rough work
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51.

52.

53.

54.

55.

A mixture of sulphur & carbondisulphide is :

(1) Heterogenous and shows tyndall effect

(2) Homogeneous and show tyndall effect

(3) Heterogeneous and does not show tyndall effect
(4) Homogeneous and does not show tyndall effect
The components of water can be separated by :
(1) Physical method

(2) Chemical method

(3) Both (1) & (2)

(4) They can't be separated

Brassisa:

(1) Compound

(2) Element

(3) Homogeneous mixture

(4) Heterogeneous mixture

The chemical symbol of sodium is :

(1) So (2) Sd

(3) NA (4) Na

The number of L—shell electron in F atom :
(1) 5 2)7

(3) 2 “4)1

PART-D : CHEMISTRY

51.

52.

53.

54.

55.

CLASS - IX

ZONE - 1

AR g BlATSISHDIZS BT A0 8
(1) fowarh &R feved yvma g1fd & |
(2) FHI 3R fevse yvra goifd B |

(3) fawmieh &iR feveet ywra =& g 2 |
(4) RN 3R fevser yma e gurfa B |
TS & TSH DI 3T B ADA © -

(1) Wfrs fafy g=u

(2) Trarafae fafd g

(3) G (1) T (2)

(4) STD! ST 7TE] DR Fhd &
a8

(1) It

(2) 7@

(3) AR s

(4) fwHrT fAstor

AifsaH o1 e udie ©

(1) So (2) Sd
(3) NA (4) Na
FARI & L-PIY H Selagid &) Gl ¢
(1) 5 2) 7

(3) 2 @) 1

Space for rough work
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56.

57.
58.

59.

60.

Tecno'23

TALENT EXPLORING CLC
NATIONAL OLYMPIAD

How many total proton are found in one molecule 56.

of ethanol (CH,—CH,~OH)

(1) 51 (2) 151

(3) 600 4) 26

The number of electron in one molecule of CO, is : 57.
(1) 22 (2) 44

(3) 66 (4) 88

46 gm of sodium is equal to ? 58.
(1) 7 mole (2) 2 mole

(3) 1.5 mole (4) 1 mole

Which of the following has maximum number of 59.

atom :

(1) 18 g of H,O

(2) 18 gof O,

(3) 18 g of CO,

(4) 18 g of CH,

Which of the following are chemical changes ?
(i) decaying of wood

(ii) burning of wood

(iii) sawing of wood

(iv) Hammering of a nail into a piece of wood
(1) i) & (ii) (2) (ii) & (ii)

(3) (iii) & (iv) (4) (i) & (iv)

60.

TEST CODE
2805

T (CH,~CH,~OH) # Ua 319 H UIei &l W01 8

(1) 51 (2) 151
(3) 600 (4) 26
CO, & U 377] 3 IURIT Selag i+l &l T&T 8 ©
(1) 22 (2) 44
(3) 66 (4) 88
46 gm JIfeTH fordgd IR & ?

(1) 7 A (2) 2 A
(3) 1.5 A (4) 1 9t
o # & 99 31 oA forad 2
(1) 18 g of H,0

(2) 18 gof O,

(3) 18 g of CO,

(4) 18 g of CH,

71 7 9 P e aRad+ g 2
(i) APl BT &R

(ii) ADBS! BT STt

(iii) STPHS! BT ARAT

(iv) THE! B U g | DIt ST |
(1) (@) T (i) (2) (i) T (i)
(3) (ifi) T (iv) (@) (i) 9T (iv)

Space for rough work
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61. Which of the following tissue has dead cells? 61

62.

63.

64.

(1) Parenchyma

(2) Sclerenchyma

(3) Collenchyma

(4) Epithelium tissue

In Platyhelminthes, the excretory organs are :
(1) nephridia

(2) malpighian tubules

(3) flame cells

(4) green glands

Match column-I with column-II and find out the 63.

correct option :

Column-I Column-II
(A) Algae (i) Deodar
(B) Fungi (ii) Ulothrix

(C) Gymnosperm (iii) Marchantia
(D) Bryophytes
(1) A-ii, B-iv, C-i, D-iii

(3) A-iv, B-ii, C-i, D-iii

(iv) Rhizopus
(2) A-i, B-iii, C-iv, D-ii
(4) A-iii, B-i, C-ii, D-iv

Choose the right combination of heart types and 64.

animals :
2 chamber fish
(1) 3chamber | Amphibians
4 chamber Reptiles
2chamber fish
2) 3chamber | reptiles
4 chamber | birds
2chamber | reptiles
3) 3chamber | Birds
4 chamber | Human
2chamber | Birds
(@) 3chamber | reptiles
4 chamber Fish

62.

CLASS - IX

ZONE - 1

. FfaRed # 9 9199 a6 7 99 SRS g ol € 2
(1) F5T® (TS
(2) SeId® (TRIRhTSHI)
(3) TLCTRIVITD (Plci-hIgHT)

(4) Syl Haw (Tfffeam)

i foHwelIol H, Sovil T 81 & :

(1) fpSrn

(2) HedTe AferwTy

(3) ToiH PIRBTY

(4) = Tfrt

Dlc-1 B DIcH-11 B 121 e B L fAded a1 uganfag
i I Bl II
(A) dara (i) TI_R

(B) ®ad (i) FeArfra|
(C) AT (errgadist) (i) AT e
(D) STATBIZSH (iv) TZSTH

(1) A-ii, B-iv, C-i, D-iii ~ (2) A-i, B-iii, C-iv, D-ii
(3) A-iv, B-ii, C-i, D-iii  (4) A-iii, B-i, C-ii, D-iv
TSI S UPR T4 SIg3il & Fel FIIo Bl AN :

208l
3 De
4 D&l

(1)

2 Pe
3P
4 ey

)

2 Pef
3%
4 e

)

2 el
3 el
4 el

(4)

Space for rough work
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TALENT EXPLORING CLC
NATIONAL OLYMPIAD

65. Which of the given information describe a 65

66.

67.

68.

69.

70.

grasshopper and a pigeon :

Animal | Lays Is warm Has a
eggs blooded | backbone
A Yes Yes No
B Yes Yes Yes
C Yes No No
D No No Yes
(1) Grasshopper — C ; Pigeon - B
(2) Grasshopper - D ; Pigeon — A
(3) Grasshopper — C ; Pigeon - D
(4) Grasshopper — A ; Pigeon — B

Schwann cell surrounds :

(1) Axon (2) Cyton

(3) Dendrite (4) All of these

If the tip of sugarcane plant is removed from the
field, even then it keeps on growing in length. It is
due to the presence of

(1) cambium

(2) apical meristem

(3) lateral meristem

(4) intercalary meristem

Which cellular organelle is also known as 'power
house of the cell' ?

(1) Nucleus (2) Mitochondria

(3) Chloroplast (4) All of these

Amoeba acquires its food through a process which
is known as :
(1) Exocytosis (2) Endocytosis

(4) (1) and (2) both
Which of the following cellular organelle involves

(3) Plasmolysis

in the formation of acrosome of sperm ?
(1) ribosome (2) golgi apparatus

(3) mitochondria (4) nucleus

66.

67.

68.

69.

70.

TEST CODE
2805

& g SIS H A Bl U g Ud U hgeR I vl
HIAT R :

g AT Taadl [N &) gl
qd @ Bidl &

A El gl REl
B Bl &l &l
C El e REl
D e REl El

(1) feg=s1-C PR - B

2) fegs1-D DR - A

(3) feg=r-C PR — D

(4) fegei-A ; DR - B

a1 HIRTHT fhd a3l @

(1) e (2) DIfGT BT

(3) SgIse (4) SURIe G

WA H ST S 9N B 31 9T BT IS P IR gel fear oy,
ar ¥ Ig U oidrs | gear gdl 2 | v ffalad | | e
PHROT BT 8 P

(1) e (Hfagm)

(2) frdzer fersaras

(3) uredty faursaTa®

(4) srafde favrsaras

DITH BIRGIT DI BIRDT BT ol T8 S A9 H I S
ST g ?

(1) = (2) ArgeIpifgan

(3) TARTEIRE (4) SR |

a1 7 Ufehan & gRT 9IS T hNal 8, I8 Hedl & -
(1) 3R : PIRI® (2) Fc: BIfrwa

(3) Slrasegq= (4) (1) T21 (2) ST

fraferRad # & BT BIRABIT YT & YhIAH B fomior
F enfiyer e & 2
(1) TrgdrET

(3) ATgeTaifvgar

(2) TifestT IUBRT
(4) =D

Space for rough work
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Class - 9th

Paper Code : 2805

PART-A: PART-B : PART-C: PART-D: PART-E :
MATHEMATICS MAT PHYSICS CHEMISTRY BIOLOGY
Q.No. Ans Q.No. Ans Q.No. Ans Q.No. Ans Q.No. Ans

1 4 26 3 41 3 51 1 61 2
2 4 27 4 42 4 52 3 62 3
3 3 28 2 43 3 53 3 63 1
4 1 29 1 44 3 54 4 64 2
5 4 30 4 45 2 55 2 65 1
6 4 31 2 46 3 56 4 66 1
7 3 32 4 47 2 57 1 67 4
8 3 33 1 48 2 58 2 68 2
9 3 34 1 49 3 59 4 69 2
10 2 35 1 50 2 60 1 70 2
11 1 36 4

12 4 37 1

13 2 38 1

14 2 39 3

15 1 40 2

16 1

17 4

18 4

19 2

20 2

21 2

22 2

23 1

24 3

25 1
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